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A can make it easier to play games.
a. Mouse
b. Keyboard
c. Joystick
d. Smart Pen

Give the antonym of Terrible.

e Delectable
e Scaring

e Soothing

e Frightening

If the length of room is twice of its breath and the area of room is 242 m2, the breath of
the room is:

a. 1000 cm
b. 12m
c. 1100 cm
d 22m
This story is on an incident that actually happened.
a. founded
b. grounded
c. established
d. based

He always stammers in public meeting, but his todays speech

a. Was fairly audible to everyone.
b. Was surprisingly fluent.

c. Was not liked by the audience.
d. As not received by the audience.

HTTP is :

a. Hyper Text Transfer Protocol
b. Hyper Terminal Type Process
c. Hyper Text Transfer Process

d. Hyper Text Terminal Protocol



Q:7 Whois CEO of Microsoft?

Steve Ballmer
Satya Nadella
Bill Gates

Sundar Pichai
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Q:8 The minimum age to qualify for election of the Lok Sabha is

a. 21lyears
b. 18 years
c. 35years
d. 25years

Q:9 A network confined to only within a Computer lab is known as

a. MAN
b. WAN
c. LAN
d. PAN

Q:10 Rajis brother of Sneh and Sneh is the father of Tirth, Tirth is the son of Maya, While Ayshi
is a wife of Raj. What is the relation between Maya and Ayushi

a. Motherin Law

b. Sisterin Law

c. Mother-daughter
d. Sister

Q:11 Fatheris now 3 times as old as his son. 5 years back he was 4 times as old as his son. The
present age of son is:

a. 14
b. 12
c. 15
d. 16

Q:12 The language of discourses of Gautama Buddha was

a. Pali

b. Magadhi
c. Bhojpuri
d. Sanskrit

Q:13 Fenil walks 5 km towards the south and then turns to the left. After walking 3 km he turns
to the left and walks 5 km. What direction is he facing right now?

a. West

b. North

c. North-East
d. South-West



Q:14 Look at this series: 7, 10, 8,11, 9, 12, ... What number should come next?
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Q:15 Parts: Strap:: Wolf:?

Animal
Wood
Flow
Fox



